A\
1. T O<z<3 =3 3I<z<9 |z=9 |9<z<]l|z=11|11 <2< 16

f'(z) | Positive | Undefined | Negative | —3 | Negative 0 Positive
—~ | " (=) | Positive Undefined/ Negative |5 0 Positive | 0 Positive

The function f is continuous on the interval (0, 16). and f is twice differentiable except at & = 3. where the
derivatives are undefined. Information about the first and second derivatives of f for values of Z in the

interval (0, 16) is given in the table above. At what values of Z in the interval (0, 16) does the graph of f

have a point of inflection? X ( —
— ,.
@ z = 9 only (J/\ONJ‘/S )(.dﬁ

S\gv\ )Q:Cf
@x/=3anda:=9
@ =R andp =11
@ r=9andz =11




5 Let f be the function defined by f (z) = %m:’ — 32% — 162. On which of the following intervals is the

graph of f both decreasing and concave down?

-y C) €O deorwsing
Q=i X ;\\(x\ (O tontavt daw

@43) only _ +
\ + — S il ' 4'
(o) 3.3 v _i ~ K 9

Q‘{_x = XQ— (.P)'\ -\ N L _
® (8,00 X P9 = -0 -bl-B\ -\, FLs = 9 &-l\‘Y '
T T (W CA LD P




3 The first derivative of the function h is given by A’ (z) =sinz + cos(:cz) + @, and the second
derivative of h is given by h" (z) =cosz — 2z sin( 2) + 1. On what open interyals contained in
€.
—3 < & < 2 is the graph of h both increasing and concave down? O0v

ORI
\/@) (0.969, 1.697) only K\ \,\ (W\> O !
o <o CoNLOWE
(—2.499, —1.829) and (0.969,1.697) HHHNG Noron
| | \/\'/ \\®
(©) (-0.495,2) § | / | :/\‘\

(®) (-1.311,-0.166)




